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- HIGHLY ERCDIELE LAND CLASSES GRANT COUNTY, HIGHLY ERCODIELE AND
1 = MIGHLY ERODIBLE LAND CENTRAL PART POTENTIALLY HIGHLY ERODIBLE MARCH ¥, 1937
& = POTENTIALLY HIGHLY ERODIEL 2] LAND CACULATOR VER 1.1
3 = NOT HMIGHLY ERCDIBLE |  WIND ERQOSIION ! WATER EROSION !
MAF C I HEL R K T  SLOPE- PERCEN SLOFE--LENGTH  LS- VALUE HEL
SYMEQL SOIL NAME % VALUE VALUE CLASS VALUE VALUE VALUE MIN.  MAX. MIN. MAX. MIN. MAX . ST/RK CLASS
HHRHH XN EIERERE R EXERR ¥ WX HXARHE HAEREN HEXEE EEXXEN HHAERE AR ERE EXEREE FEEEE XEXXRR REXXAX HXEHH HXNN* EX T 223 B2 L X
1F ALDING 1 50 ©0.10 3 1 30 70 Z00 OO0 1
IF ROCHE CUTCROF 2 Z0 Q.10 ] 1 0 70 200 200 = e el
ZD ANATONE 1 80 0.10 1 kel 25 400 EOO 1.0 Z.ET
WR I GHTMAN 36 0.10 3 z 3 Z0 400 =50 1 1.44 =
EALDER 1 100 O.10 3 1 5 15 400 400 1 1.11 1
EALDER 1 100 0.10 : 1 15 il 50 480 = 1.87 1
BOYCE 1 100 0.10 5 Q z 400 P00 0 F.60 0 3
COURTROCE 1100 0.10 ] 2 7 400 00 0. 4,17 3
DAXTY 1 100 0.10 . 3 z 15 40 pt=10) 450 2.4 .67
DAXTY 1 BS 0,10 : 3 z el 40 400 450 1 Z.ET B
ROCK QUTCROP 2 20 0.10 0 2 1 3 40 400 450 1 13,23 el
DAYVILLES 1 100 0.10 2 3 ] 0 =z 400 200 0 .60 3
FOFIAND OWMeS 1 100 ©.10 ] 3 1 z 15 400 AOO O 0.7 1
FOP TANG 1100 0.10 bt ] 1 15 40 ZEB0 480 2 0.72 1
GRELL 1 100 0.10 0 3 1 7 40 450 1.9 Q.95 1
GRELL 1 100 0.10 o 3 1 15 40 450 2.4 Q. 1
GWIN 1 50 0.10 o 3 0,10 1 40 450 1.0 z z
GWIN 1 40 0.1i0 o] 3 0.10 1 40 70 00 4 z 1
ROCKLY T OE0 0.10 0 ] e 0.10 1 e 40 450 1.0 2 z
ROCELY 40 0.10 ) = i 40 70 Z00 FZ00 4 1
GWIN 1 45 0.10 0 3 e 1 40 70 Z00 300 4 1
ROCK OUTCROP FOEE Q.10 ] 3 2O 1 40 70 Z00 00 4 3 3
HACHK 1 100 0.10 4 3 20 5 5} 3 400 200 0 4 e
HACEK 1 100 0,10 43 3 0 5] 3 7 400 00 1.0 4 3
HACH 1 100 0.10 4 3 20 5 7 12 400 &00 1 4 3
HACK 1 100 0,10 4 ] 30 5 3 15 400 &00 1. 5 3
HACK 1 100 ©.10 0 3 0 5 20 400 550 1 & i
HANK INS 1 100 0.10 45 30 4 10 485 ZEO 450 1 3 z
HANE INS 1 106 0.10 et} 3 0 4 5 et 400 450 1. 3. z
HELTER 1 100 0.10 Sé 2 0 =] e 15 400 1.0 Z. e
HEL.TER 1 G.10 Sa = 30 5 15 40 450 Z.é z z
HELTER 1 Q.10 B ] 20 = 40 &EQ 200 4 = i
LAYCOCK 1 0,10 0 3 0 z 15 45 450 2 5 z
LOGDELL z .10 0 30 1 18 45 450 2 z z
LAYCOCHK 1 0.10 0 0 z 15 45 450 = 5 e
LAYCOCK 1 0.10 o 3 c1e) z 45 75 200 4 g z
LOGDELL z 0.10 o €} 30 1 15 45 450 2 = z
LOGDELL z a.10 a 3 0 1 45 75 BOO 4 z 1
LEMONEX 1 0.10 0 30 z 10 45 450 1. z
LEMONE X 1 0.10 0 30 2 3 45 450 1. .
ROCK OUTCROP z 0.10 0 30 1 3 45 1. A
KILLET 1 0.10 o 20 1 Z0 70 3 1
. DUTCROP z 0.10 0 30 1 Z0 70 3 e
LOGDELL 1 0.10 0 20 1 45 75 4 1
MCGARR 1 0.10 I8 30 z 5 45 1.1 E
MCGARR 1 0.10 38 0 z 45 7E 4 1
MCGARR 1 0.10 0 30 z 5 55 1. z
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40 0,10 Q
40 0.10 ]

40 400 450
40 400 450

LEMONEX = 0.10 8] 30 jelv] T 200 F00 ¥4
ROCELY 100 0,10 Q 20 = 0 400 EEO 0,82
RUDDLEY LOAM 100 0,10 42 20 = 40 400 480 1.84 ]
RUDDLEY EG 0.10 44 0 5] 40 400 450 1.94 .47 0.95
ROCK QUTCRIOR 00 0.10 o] 20 ) 40 400 480 1,54 au.dw 13,33
SIMAS 100 0,10 jeds O & 30 400 5G0 2 F.20 Z.86
SIMAS 100 0,10 Q 20 = 40 400 450 2 A.dF 287
SIMAS 40 0.10 Q 30 i 40 400 450 A4 ZLAT
DAy 40 Q.10 (51 30 5] 40 400 480 G T
SIMas 55 0,10 2] 30 40 A5 Z00 200 F.ET
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SNELL 100 0.10 [s] 30 = 1 40 ZEO 450 S.4%  T.i4
4k SNELL a0 0,10 0 20 z 40 280 450 d.4% 2,14
4aF SMNELL 40 0,10 2 20 e 70 200 SO0 A.TH  2.14
4&E ANATONE 200 0,10 o] k] 20 i 40 Z50 450 G.4% Z.&T7
44F ANATONE 40 0.10 2 0 1 70 Z00 200 &4.78% Z.67
47E TOF 100 0.10 ) 20 3 o1 zZ50 480 4,03 .80
+47F TOP 100 0.10 3 1] 2 &5 Z00 200 4.0z &.88  EZ.BO0
SE TUE 00 0,10 ] 20 0.3ET7 z 40 ZEO 450 .18 A.47 1,44
4EF TUE 106 0,10 : ] 30 0LET z A5 Z00 00 4.33 .58 1.44
4D TUR 100 ©.10 2} 30 0.8 = =0 400 RSO 1.0%
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BEE WATERBURY 100 Q.10 0 X 0.10 3 480
7D WRIGHTMAN 40 0,10 43 3 0.37 z wiste]
57D ANATONE 40 0,10 ] 3 0.10 & =1ile] =



